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Question 1(26 marks total, 2 marks for each question):  Select the ONE right answer.
Q1. What is written to the monitor by the following section of code:


String strA = new String("Mid-Autumn ");


String strB = new String("Festival "); 


strA = strB;


System.out.print  ( strA );


System.out.println( strB );

a.    Mid-Autumn Festival
b.    Festival Mid-Autumn
c.    Mid-Autumn  Mid-Autumn
d.    Festival Festival
Answer: _____d________________________________________________

Q2. Examine the following section of code: 

String strA = new String("Steamed ");

strA        = new String("Toasted ");

strA        = new String("Fried ");

strA        = new String("Baked ");

strA        = new String("Beef ");

How many objects (total) are created? After the last statement being executed, how many objects are now accessible (don't count garbage)?

a.    This section of code is incorrect. 

b.    created: 5   now accessible: 5 

c.    created: 1   now accessible: 1 

d.    created: 5   now accessible: 1 

Answer: ______d________________________________________________
Q3. What does this code output:

  StringTokenizer stuff = new StringTokenizer( "abc,def,ghi", "," );

  System.out.println( stuff.nextToken() );

a.    abc,def,ghi 

b.    abc 

c.    abc, 

d.    , 

Answer: ____b_________________________________________________
Q4. Say that class Rodent has a child class Rat and another child class Mouse. Class Mouse has a child class PocketMouse. Examine the following:

Rodent rod;

Rat rat = new Rat();

Mouse mos = new Mouse();

PocketMouse pkt = new PocketMouse();

Which one of the following will cause a compiler error? 

a.    rod = rat;  

b.    rod = mos;  

c.    pkt = null;  

d.    pkt = rat;  

Answer: ____d__________________________________________________
Q5. Say that the situation is the same as in Q4. Which of the following array declarations is correct for an array that is expected to hold up to 10 objects of types Rat, Mouse, and PocketMouse? 

a.    Rat[] array = new Rat[10];  

b.    Rodent[] array = new Rat[10];  

c.    Rodent[] array = new Rodent[10];  

d.    Rodent[10] array;  

Answer: _____c________________________________________________
Q6. Which statement is FALSE about the try{} block?

a.    Some of the statements in a try{} block will never throw an exception.  

b.    The statements in a try{} block may throw several types of exception.  

c.    The statements in a try{} always throw an exception.  

d.    The try{} block must be before the catch{} blocks.  

Answer: ______c______________________________________________
Q7. Which abstract class is the super class of all classes used for reading bytes. 

a. Reader 

b. FileReader 

c. ByteReader 

d. InputStream 

e. FileInputStream 
Answer: _____d_______________________________________________
Q8. Say that methodA calls methodB, and methodB calls methodC. MethodC might throw a NumberFormatException. Can the program be written so that methodA handles the exception?
a.    No, the exception must be handled by methodC or its caller, methodB.  

b.    No, methodC must handle the exception.  

c.    Yes, if the header for methodC says ...throws NumberFormatException  

d.    Yes, if the headers for methodC and methodB say ...throws NumberFormatException  

Answer: ______d_______________________________________________
Q9. What is an advantage of using a DataOutputStream? 

a.    A DataOutputStream has convenient methods for output of primitive data types.  

b.    A DataOutputStream translates primitive data into characters.  

c.    A DataOutputStream uses the particular data format of the computer it is running on.  

d.    A DataOutputStream need not be used with other streams.  

Answer: _______a______________________________________________
Q10. It is well known that an instance of the subclass is automatically the instance of its parent class. Suppose Employee is a well-defined class, which has a method "RaiseSalary()" and Manager is its subclass, but overrides this method.  In the following code,

   
...

   
Manager boss = new Manager();

   
Employee john = new Employee();

   
Employee[] staff = new Employee[2];

   
staff[0] = boss;

   
staff[1] = john;

   
staff[0].RaiseSalary(); (*)

   
staff[1].RaiseSalary(); (**)

Select the ONE right answer.
a.    Both (*) and (**) will call Employee's RaiseSalary() because they are instances of Employee.

b.    Both (*) and (**) will call Manager's RaiseSalary().

c.    (*) will call Employee's RaiseSalary(), but (**) will call Manager's.

d.    (*) will call Manager's RaiseSalary(), but (**) will call Employee's.

Answer: _________d____________________________________________
Q11. What does the following program do when it is run with the command :

java Mystery Mighty Mouse

class Mystery {

   

public static void main(String[] args) {

      


Changer c = new Changer();

      

c.method(args);

      


System.out.println(args[0] + " " + args[1]);

   
}

   

static class Changer {

      

void method(String[] s) {

         


String temp = s[0];

         

s[0] = s[1];

         


s[1] = temp;

      
}

   

}

}

Select the ONE right answer. 
a.    This program causes an ArrayIndexOutOfBoundsException to be thrown

b.    This program runs but does not write anything to the standard output

c.    This program writes "Mighty Mouse" to the standard output

d.    This program writes "Mouse Mighty" to the standard output

Answer: ______d_______________________________________________
Q12. Why won’t the following class be compiled?

class A {

   

private int x;

   
public static void main(String[] args) {

      


new B();

   
}

   

class B {

      


B() {

         



System.out.println(x);

      

}

   

}

}
Select the ONE right answer.
a.    Class B tries to access a private variable defined in its outer class.

b.    Class A attempts to create an instance of B when there is no current instance of class A. 

c.    Class B’s constructor must be public.

d.    Class B is not public.

Answer: ______b_______________________________________________

Q13 . Consider the following example:

class First {

public First (String s) {

System.out.println(s);

}

}

public class Second extends First {

public static void main(String args []) {

new Second();

}

}

 What is the result of compiling and running the Second class?

A. Nothing happens 

B. A string is printed to the standard out 

C. An instance of the class First is generated 

D. An instance of the class Second is created 

E. An exception is raised at runtime stating that there is no null parameter constructor in class First. 

F. The class second will not compile as there is no null parameter constructor in the class First.
Select the most appropriate answer.

Answer: ____F_______________________________________________

Question 2 (5 marks)  Fill in the missing code in the following code block.  The program should print out the number of arguments on the command line.

Class testCL {

    public static void main(String argv[]){

        System.out.print("The number of command line arguments:");

        System.out.println(__________________________________);

    }

} Answer argv.length
Question 3 (6  marks):   What gets displayed on the screen when the following program is compiled and run. 

Class Number {
 int i;
 }
 public class Assignment {
 public static void main(String[] args) {
 
Number n1 = new Number();
 
Number n2 = new Number();
 
n1.i = 9;
 
n2.i = 47;
 
System.out.println(n1.i + "," + n2.i);
 
n1 = n2;
 
System.out.println(n1.i + "," + n2.i);

 
n1.i = 27;
 
System.out.println(n1.i + "," + n2.i);
   }
 }

Answer:

____9, 47_________________________________________

____47, 47___________________________________________________
____27,  27___________________________________________________
_______________________________________________________
Question 4 (6  marks):   What gets displayed on the screen when the following program is compiled and run. 

Class Number {
 int i;
 }
 public class Assignment {
 public static void main(String[] args) {
 
Number n1 = new Number();
 
Number n2 = new Number();
 
n1.i = 10;
 
n2.i = 22;
 
System.out.println(n1.i + "," + n2.i);
 
n1.i = n2.i;
 
System.out.println(n1.i + "," + n2.i);
 
n1.i = 88;
 
System.out.println(n1.i + "," + n2.i);


 }
}

 
Answer:


____10, 22___________________________________________________

____22, 22___________________________________________________
____88, 22___________________________________________________
_______________________________________________________
Question 5 (8  marks):   What gets displayed on the screen when the following program is compiled and run. 

out: for (int i = 1; i <= 3; i++){


         for (int j = 1;j <= 3; j++) {


           
System.out.println(i +", "+ j);


          
if (( i + j) > 4)


               

break out; 


        }

        System.out.println("end");


   } 

   System.out.println("the end");

Answer:


__1, 1_____________________________________________________

__1, 2_____________________________________________________
__1, 3_____________________________________________________
__end_____________________________________________________
__2, 1_____________________________________________________

__2, 2_____________________________________________________
__2, 3_____________________________________________________
__the end_____________________________________________________
_______________________________________________________
_______________________________________________________
_______________________________________________________

_______________________________________________________
_______________________________________________________

Question 6 (8 marks):  What gets displayed on the screen when the following program is compiled and run. 

class overridden {

    int i = 5;

    public overridden(){

     System.out.println("i in overridden : " + (i++));


}

    public void method() {

        System.out.println("method: i in overridden : " + (i+10));

   }

}

public class override extends overridden {

    int i=10;

    public void method() {

        System.out.println("method: i in override : " + i);

    }

    public static void main(String s[]) {

        overridden o = new override();

        overridden or = new overridden();

        o.method();

        or.method();

    }

}

Answer:


__ i in overridden : 5____________________________

__  i in overridden : 5_______________________________

___method: i in override : 10___________________________

___method: i in overridden : 16________________________
______________________________________________________

_______________________________________________________
 Question 7 (7  marks):   What gets displayed on the screen when the following program is compiled and run. 
public class testExecption {

     public static void main(String args[]) {

        char A[] = {'a','b','c','d','e','f','g','h'};

        try {

            for (int i = 0; i <= A.length; i++)

                System.out.println(A[i++]);

        }

        catch(ArithmeticException e) {

            System.out.println(0);

        }

        catch(ArrayIndexOutOfBoundsException e) {

            System.out.println(1);

        }

        catch(Exception e) {

            System.out.println(2);

        }

        finally {

            System.out.println(3);

        }

        System.out.println(4);

     }

}

Answer:

a

c

e

g

1

3

4
Question 8 (9  marks):   What gets displayed on the screen when the following program is compiled and run. 

class X {

         public static void jout(String s) {

            System.out.println(s);

         }

          void amethod() {

            System.out.println ("In X, amethod()");

         }

      }

      class Y extends X {

          void amethod() {

            System.out.println ("In Y, amethod()");

         }

      }

      class Z extends Y {

          void amethod() {

            System.out.println ("In Z. amethod()");

         }

      }

      public class Tricky2{

         public static void main (String[] args) {

            X xy = new Y();

            X xz = new Z();

            Y yz = new Z();

            xy.amethod();

            xz.amethod();

            yz.amethod();

         }

      }

Answer:

In Y, amethod()

In Z. amethod()

In Z. amethod()

_______________________________________________________

_______________________________________________________

Question 9 (15 marks):  What gets displayed on the screen when the following program is compiled and run. 
import java.io.*;

public class TestInnerEtc {

   public static void main (String[] args)throws IOException{

      Outer.Nested n = new Outer.Nested();

      Outer.Nested.NestedNested nn = 
                              new Outer.Nested.NestedNested();

      Outer.Nested.NestedInner  ni = 
                          new Outer.Nested().new NestedInner();

      Outer.Inner  i = new Outer().new Inner();

      Outer.Inner.InnerInner  ii = 
                      new Outer().new Inner().new InnerInner();

      Outer.InnerI oi = i;

      Outer o = new Outer();

      o.aMethod(3, 4);  

      Outer.bMethod(3, 4);  

      System.in.read();

   }

}

class Outer {

   public  int a  = 1;

   private int b  = 2;

   static  int sa = 1;

   static  int sb = 2;  

   public void aMethod(final int c, int d) {

      final  int e = 5;

             int f = 6;  

      class Local {

         int aLocalMtd(int g) {

            return (a + b + sa + sb + c + e + g); 

         }

      }

      Local l = new Local();

      int x = l.aLocalMtd(7);  

      System.out.println(x);            

   }

 public static void bMethod(final int c, int d) {

      final int e = 5;

            int f = 6;  

      class LocalInStatic {

         int bLocalMtd(int g) {

            return (sa + sb + c + e + g);

         }

      }

      LocalInStatic l = new LocalInStatic();

      int x = l.bLocalMtd(7);  

      System.out.println(x);            

   }

   protected static class Nested {

      static int s = 3;

             int i = 3;

      static int f() {return 1;}

             int g() {return 2;}

      static class NestedNested {

         NestedNested() {System.out.println("NestedNested");}

      }

      class NestedInner {

         NestedInner() {System.out.println("NestedInner");}

      }

   }

   class Inner implements InnerI {

      class InnerInner {

         InnerInner() {System.out.println("InnerInner");}

      }

   }

   interface InnerI {

      interface InnerInnerI {

      }

   }

   interface InnerII {

   } 

   static interface InnerIII extends InnerI, InnerII {

   }

}

Answer:

NestedNested

NestedInner

InnerInner

21

18

Question 10 (10 points)

The following program outputs some invoice information in binary format.  Insert proper codes in the empty lines so the program will also create a text file “invoice1.txt” and output to it all the information originally stored in arrays: prices, units, descs.  The file “invoice1.txt” should be in text format.  In this example it should be:    

19.99 12 Java T-shirt

9.99 8 Java Mug

15.99 13 Duke Juggling Dolls

3.99 29 Java Pin

4.99 50 Java Key Chain

import java.io.*;

public class DataIOTest {

    public static void main(String[] args) throws IOException {

        DataOutputStream out = new DataOutputStream(new

                                   FileOutputStream("invoice1.dat"));

        double[] prices = { 19.99, 9.99, 15.99, 3.99, 4.99 };

        int[] units = { 12, 8, 13, 29, 50 };

        String[] descs = { "Java T-shirt",

                           "Java Mug",

                           "Duke Juggling Dolls",

                           "Java Pin",

                           "Java Key Chain" };

        for (int i = 0; i < prices.length; i ++) {

            out.writeDouble(prices[i]);

            out.writeChar('\t');

            out.writeInt(units[i]);

            out.writeChar('\t');

            out.writeChars(descs[i]);

            out.writeChar('\n');

        }

        out.close();

_______________________________________________________________________________
PrintWriter out2 = new PrintWriter(new



            FileWriter("invoice2.dat"));

        
for ( int i = 0; i < prices.length; i ++) {

            
out2.println(prices[i] +" " +units[i] + " " + descs[i]);

                   }

        
out2.close();

_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________

_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
    }

}

Classes, interfaces, and methods that you might need

· public class BufferedReader extends Reader

· public BufferedReader(Reader in)

· public void close()  throws IOException

· public String readLine() throws IOException

· public class InputStreamReader  extends Reader
· An InputStreamReader is a bridge from byte streams to character streams
· public class FileWriter extends OutputStreamWriter

· public FileWriter(File file) throws IOException

· public class PrintWriter extends Writer

· public PrintWriter(OutputStream out)

· void println(Object x) Print an Object and then terminate the line.

· void println(String x) Print a String and then terminate the line.

· public void close()Close the stream.
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